Final Exam

Review Q&A




Consider a mutator method "'m" defined in class "SomeClass". c/c P 7"7(

Assume that the correct implementation of method “mis such that: ﬂ

o Wh}e{ ‘m’ is invoked for the first time, no exceptions occur. < —> o m — F«
« When "'m" is invoked for the second time, a “SomeExceptoin™ occurs. > sz M PS-;-

public class Tester { /* This is a JUnit tester. */

/* import of JUnit assertions omitted */ { YO P'IZ‘.
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public void test() { 71 ert 4 /ZE/
SomeClass obj = new SomeClass(); [ ‘PhM M&- 1
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catch(SomeException e) {
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public class Tester { /* This is a console tester. */

public static void main(String[] args) {
SomeClass obj = ney SomeClass();
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System.out.printl
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catch(SomeException e) {
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catch(SomeException e) {

V System.out.println("Fail"); ..'04
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3 B publlf: class Teste}' { /* ThvlS is a' JUnit tester. */ public class Tester { /+ This is a JUnit tester. s
% dgport of JUnit assertions omitted */ /* import of JUnit assertions omitted */
Q@Test
public void test() { public void test() {

SomeClass obj = new SomeClass(); SomeClass obj = new SomeClass();
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public class Tester { /* This is a console tester. */

public static void main(String[] args) {
‘?f

SomeClass obj = new SomeClass();
try {

atch(SomeException e) { /
[System.out.printIn("Fail"); |

i
try { 4——\\\~___——:;

obj.mQ);
System.out.println("Fail");
}
r catch(SomeException e) {
}
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public class Tester { /* This is a JUnit tester. */
/* import of JUnit assertions omitted */
Q@Test
public void test() {
SomeClass obj = new SomeClass();
try {
obj.m();
}
catqe[%omeException e) {
fail();
}
try {
obj.m(Q);
fail();
}
catch(SomeException e) {

}




public class Tester { /* This is a JUnit tester. */
/* import of JUnit assertions omitted */
@Test
public void test() {

SomeClass obj = new Someflass(); eﬁ'
try { MT SM
obj.m(); 7
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catch(SomeE;Jce‘l 021 e) { ‘ /
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catch(SomeException e) {
fail();
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Y V public class Tester { /* This is a console tester. */
public static void main(String[] args) {
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SomeClass obj = new SomeCl ss()

try { £ cf’fe
e Tt o
ST A e o

System.out.println("Fail");

l;
| catch(SomeException e) {

System.out.prigtln("Fail");
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Are descendant classes only u‘(seful if they have more expectations
than their ancestor classes? If not, on|page 5|of your written notes
on "Static Types, Expectations, Dynamic Types, and Type Casts",
when you cast (D) oa, it does not work because the "d" attribute is
not declared in class C. But if we suppose that class D simply
didn't have the "od.d" expectation (so only "a" and "c" attributes),
would it still cause a ClassCastException even though D and C -
would have the same expectations?
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Given a string and a non-empty substring sub, compute recursively the largest substring
which starts and ends with sub and return its length.

strDist("catcowcat", "cat") — 9
strDist("catcowcat"”, "cow") — 3
strDist("cccatcowcatxx", "cat") — 9
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class Collector {
Al as;int numberOfic; 702
. 1:.3 (8
BHbs—intnumber6{Bs;
Collector() {
= ; = ; 3
void addA(A a) {
as[numberOfAs] = a; numberOfAs++; }
void addB(B b) {
78 bs[numberO0fBs] = b; numberOfBs++; }
void callAll() {
for(int i = 0; i < numberOfAs; i ++)
{ as[il.miQ; }
for(int i = 0; i < numberOfBs; i ++)
{ bs[i].miQ); 1}
}

}
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